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SI. No.1
QBID:1555021

Choose the correctly spelt word.
(1) Defalcation

(2) Difaleation

(3) Defalcasion

(4) Defalcatation
fafafad & qoue =g &
(1)

(2) ~nAT

(3) =

(4) 99

1[Option ID=19201]
2[Option ID=19202]

3[Option ID=19203]
4[Option ID=19204]

Sl. No.2
QBID:1555022

Given below are four sentences in jumbled order. Select the option that gives their correct order.
A. Once on their way, the stones did not stop until they reached the bottom of the hill.

B. You had to be very careful not to start a landslide.

C. Loose stones rattled down the cliff.

D. And they took other stones with them. so that there was soon a cascade of stones.

Choose the correct answer from the options given below :
1) C.A.D.B
(2) B.A.D.C
3) B.C.A.D
4) C.D.B.A

2 9 Py QU L & TP DY (Assertion A) B T T fATEd 8 I GIRT IUP BRI (Reason R) & FU T:
UPYT A : SPRIT T4 WA ST & |

FRUIR : A T I 3 | B U3 3918 Bl ©. STy SpRid sk g i ol Wi 781 8 |
SRIG HY & 3HTalle 0, - [ U [dhedi o 9 Fad IUgad Sk &1 98- Hifl |

(1) A SRR A TR T AR R AT TE AR &

2) A 3RR T8 €. AR, A B! g U el ©

3) AGEI g AR WEI eI ©

(4) AFSITRIg AT R TSI B

1[Option ID=19245]
2[Option ID=19246]
3[Option ID=19247]
4[Option ID=19248]

Sl. No.3
QBID:1555023

Choose the correct sentence.
(1) We went to the station to see them off.
(2) We went to the station to see them out.




(3) We went to the station to goodbye them.
(4) We went to the station to say them goodbye.

F €1 FyF feU 0 & UF SfiHYA (Assertion A) F w9 H Rif@d & @ g9 39% RO (Reason R) & &0 #:

ity A T oes gvaieiv g |

FRU R : 70 ARG Weg & | AT Tt oeRid Weg AT TS T

TUdla HYA & e d, 19 feu o fowedl # 9 w6d Iugsd 9Tk S 904 g
(1) A JRR EF w81 2 SRR, A ¥ 981 aarem 2

(2) A 3RR eHl 961 & 3fFT R, A o 98 sgrem 87 @

(3) AT 2 AfPTR T8 TE 7

(4) A WE =gl ¢ afa R 981 8

1[Option ID=19273]
2[Option ID=19274]
3[Option ID=19275]
4[Option ID=19276]

Sl. No.4
QBID:1555024

Match List I with List II

List I (Wood) List IT (Synonym}
A pervasive I [filter
B [steve II.  widespread
C. |potent III.  metting
D. jmesh IV, |powerful

Choose the correct answer from the options given below :
(1) A-IIL B-I C-IV. D-III
(2) A-IV, B-II, C-II, D-I
(3) A-IV, B-1, C-III, D-II
(4) A-IL B-L, C-II, DIV

il 1% 1Y Gl 11 D1 BT iforg

A 1 T I
A [PHR Ze T I [l e
B. [@aqdci sl 11 [HRT sTaid o S
C. [Pelg Gorl 111 [frel & SN R A
D. [@eiell 381 BHI IV, [Hg Fd 9

+d U U [ds el § 9 9gl 3R &1 9094 Bl
(1) A-II, B-IIL, C-IV, D-I
(2) A-IIL B-IV, C-I, D-II
(3) A-IV, B-L, C-IL. D-III
(4) A-L B-IL C-IIL. D-IV

1[Option ID=19277]
2[Option ID=19278]
3[Option ID=19279]
4[Option ID=19280]

Sl. No.5
QBID:1555025




Which two of the following are in correct form ?
A, Let's go to the cinema, shall we ?

B. Let's go to the cinema. do we ?

C. Let's not go to the cinema, shall we ?

D. Let's not go to the cinema, shan't we ?

Choose the correct answer from the options given below :
(1) A and D only

(2) A and C only

(3) B and D only

(4) B and C only

o feragd s oS £ 2

(1) e Uy

(2) SRumdE U1g

(3) T A

(4) ¥gH =g

1[Option ID=19281]
2[Option ID=19282]
3[Option ID=19283]
4[Option ID=19284]

Sl. No.6
QBID:1555026

Choose the option which is opposite in meaning to the following word:

Castigate

(1) Commend

(2) Reprimand

(3) Flagellated

(4) Commotion

w1 & T SH-a a9 R 7

(1) &= oo dam e € |

(2) Tepa # off siaHd 9 A8 8 |

(3) TEOES HHRIT Y G Fgaa= § &% & ol & |
(4) =< veria gfedn Sansd #1 agaT s & Y T F R W ST TS © |
1[Option ID=19285]

2[Option ID=19286]

3[Option ID=19287]
4[Option ID=19288]

Sl. No.7
QBID:1555027

Identify the correct indirect narration for the following sentence :

"Who now." they had asked. "Will listen to our troubles and protect us from the crocodiles" ?

(1) They had wanted to know who would listen to their troubles and protect them from the crocodiles.

(2) They had wanted to know who then would listen to their troubles and protect them from the crocodiles.
(3) They had wanted to know who will now listen to their troubles and protect them from the crocodiles.

(4) They wanted to know who will listen to their troubles and protect them from the crocodiles.




fore wame &1 SR opfa Sf=m Ue v 2, S9 Ooey 9HN FEd § | ST SeTeo 9y |

A. g

B. w&omgnl

C. Taie®

D. Sy

E. 3o
¥ fau T fawedt & § S99 SUgE IR 1 904 S
(1) ¥ A, B.D
(2) F@@B.C.D
3) @ C. A B
(4) ¥@@ D.E. C
1[Option ID=19289]
2[Option ID=19290]

3[Option ID=19291]
4[Option ID=19292]

SlI. No.8
QBID:1555028

Which of the following is a one-word substitute for "safe to drink' ?
(1) Potable

(2) Suitable

(3) Edible

(4) Pliable

AT §9 ¥ &1 9 A § S0 saigar 1 § 2
(1) 94

(2) =

(3) =M™

(4) =i

1[Option ID=19293]

2[Option ID=19294]

3[Option ID=19295]
4[Option ID=19296]

Sl. No.9
QBID:1555029

Identify suitable preposition from the options given below to compute the sentence.

Neha would think it her to do such a small work.

(1) under

(2) below

(3) above

(4) beneath

faffEa i s o € -
A AEIYTEOT
B. o=
C. feER

D. s
E. 9=id

H2 fau 71y fawed # & 9o SUgad ITR &1 994 B
(1) FETA.B. C
(2) ¥ B.C. D

(3) ¥ C.D. E
(4) FETA.D. E

1[Option ID=19297]
2[Option ID=19298]
3[Option ID=19299]
4[Option ID=19300]




Sl. No.10
QBID:15550210

Identify the active voice for the following sentence :

These things have been left here by an unknown person.
(1) An unknown person leaves these things here

(2) An unknown person have left these things here

(3) An unknown person has left these things here

(4) An unknovmn person had left here these things

T[& 919 &1 9649 B |

(1) WF B B gEE |

(2) 1T &l TS Sl S

(3) We IHE B I S o |

(4) B F ULS GG o |

1[Option ID=19205]
2[Option ID=19206]
3[Option ID=19207]
4[Option ID=19208]

Sl. No.11
QBID:15550211

Amid economy crisis and political turmeoil in Sri Lanka who has been appointed as the new PM of Sri Lanka.
(1) Maithripala Sirisena

(2) Ranil Wickremesinghe

(3) Mahinda Rajapaksa

(4) Gotabaya Rajapaksa

Jicient ¥ anide Have ud Aeide Riifd & sl dicie! o1 a1 UL (68 Fyed [oarm g 2

) Ffiare RRE

(@) i fapafiy

(3) AfgzIouE

(4) TICTETaT IASTIE)

1[Option ID=19209]
2[Option ID=19210]
3[Option ID=19211]
4[Option ID=19212]

Sl. No.12
QBID:15550212

Who has become the First female to took the office of President of Tanzania and the third woman head of the government of country
East African Community ?

(1) Samia Suluhu Hassan

(2) Agathe Uwilingiyimana

(3) Sylvie Kinigi

(4) Sahle-work-Zewde

T & PO &1 Ug YR T50 S aTell S AR Sk gdf snpiel SHerg | o% #1 WeR WiE a9 ardl died afea #1994 2

(1) e YOg g5
(2) ammre Sfafdfafammr
(3) Taed f&hrh

(4) Tgo-ad vag
1[Option ID=19213]
2[Option ID=19214]

3[Option ID=19215]
4[Option ID=19216]

Sl. No.13
QBID:15550213

India held the first spot in the International Shooting Sport Federation World Cup 2022 which was bemg held in .

(1) India
(2) China




(3) UAE.
(4) Egypt

EeXATH YT TWIE BT dts $Y 2022 T YR & WA RF U 51, o1 smaies . Hgsn:
(1) HRd

(2 =HF

3) gUs.

4 foy

1[Option ID=19217]
2[Option ID=19218]
3[Option ID=19219]
4[Option ID=19220]

Sl. No.14
QBID:15550214

Who has won the Men's Single Title at 79th Edition of the Italian Open being held in Rome ?
(1) Stefanos Tsitsipas

(2) Nowak Djokovic

(3) Rafael Nadal

(4) Roger Federer

A9 H i Serfems ofive & 798 S50 # 0oy & & UHd (Eare S e o 7
(1) e R

(2) & d@ihs

(3) =TT

(4) TR e

1[Option ID=19221]

2[Option ID=19222]

3[Option ID=19223]
4[Option ID=19224]

Sl. No.15
QBID:15550215

What is the current year estimation of the GDP growth according to the Nirmala Sitharaman in the Union Budget 2022-23 ?
(1) 9.5%

(2) 9.9%

(3) 9.2%

(4) 8.5%

fofen Siarmr ERT wRgE S0 e 2022-23 F TR 9 99 S Sed ofE F1 A fHaa g 2
(1) 9.5%

(2) 9.9%

3) 9.2%

(4) 8.5%

1[Option ID=19225]

2[Option ID=19226]

3[Option ID=19227]
4[Option ID=19228]

Sl. No.16
QBID:15550216

All the mtellectuals are very emotional, because :
A. They are thinking beings

B. They are logical bemgs

C. They are mathematical beings

D. They are philosophers

E. They are layman

Choose the correct answer from the options given below :




(1) A.D Ouly
(2) B. C Only
3) C.E Ounly
(4) D. E Only

| gigeildl 9ga WIgs B & wife

A. 9 T Tt ui F |
B. g arfée umft € |
C. 3 Tiftri ooft &
D. 3 eEfAEF |

E.39ma o7
A fau Ty feedl # § 989 Suge ST &1 994 SN
(1) FWTA. D
(2) ¥ B, C
(3) HWAC.E
(4) 5@ D, E

1[Option ID=19229]
2[Option ID=19230]
3[Option ID=19231]
4[Option ID=19232]

Sl. No.17
QBID:15550217

Choose the best options for football players :

A. Player 'XYZ' shows team spirit

B. Player 'XYZ' have sportsmanship

C. Player "XYZ' have hatred for other team-mates
D. Player 'XYZ' shows jealousy

E. Player "XYZ' shows patience

Choose the correct answer from the options given below :
(1) A.B, C only

(2) A and C only

(3) B.C.D only

(4) A.B.E only

Feam F Eansdl & {1y waia faeeg gHy |

A. fEEE 'XYZ' & viE veltfa s g

B. @& 'XYZ' & §0-yuEa g |

C. faerst 'XYZ' & o0 dn-uewi S ufa gon & |
D. fEenEl 'XYZ' we veifd #Xar & |

E. Gas ' XyZ M ekRia s 2

IR feu o el & § 999 SUgE 9T &1 999 S
(1) A, B, C
(2) FaAA SR C
(3) #@@ B, C.D
(4) BT A, B. E

1[Option ID=19233]
2[Option ID=19234]
3[Option ID=19235]
4[Option ID=19236]

Sl. No.18
QBID:15550218




A person can learn Sanskrit without a teacher :

A. It is not possible learning Sanskrit without a teacher; as it is a technical subject.
B. It is possible to learn Sanskrit as it is non-technical subject.

C. Anyone can learn it; as it is just a language.

D. It can be learned by daily practice under a teacher.

E. It is easy for a person, who know Hindi language.

Choose the most appropriate answer from the options given below :
(1) A and E only

(2) B. C and D only

(3) A.B and E only

(4) A and D only

w5 afe i st sros & Sed S wear &

A. 571 srmgs & Hegpa dean grE = € wifs 9% Ue aediet feg g
B. Ut Fhd dra-1 9BE § #ile U5 UF IR-as-die! Geg § |

C. 38 3is i ¥rg wear & 94ifE U5 Ho0 U UM 2 |

D. U 530 erus #1 v 1 2w anar & mram 9 il e wsdi g
E. 7% o<l v o= ol fe s s fmwa g

i fau e fawedi # § 9e9 Jugs 9T %1 994 S0
(1) S50 A FRE

(2) FB, C IRD

(3) FWAA. B IRE

(4) FFAAIRD

1[Option ID=19237]
2[Option ID=19238]
3[Option ID=19239]
4[Option ID=19240]

Sl. No.19
QBID:15550219

Give below are two statements :
Statement I : Pollution level in Delhi may be reduced by reducing the factories.
Statement II : All factories are creating noise pollution and are dangerous to health.

In the light of the above statements. choose the correct answer from the options given below

(1) Both Statement I and Statement IT are correct

(2) Both Statement I and Statement IT are incorrect
(3) Statement I is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement II is correct

H &1 B fgw g &
HYF | ; el & Ugun o1 ¥R $REH U © 91EE § 9ol o 95 E |
FYA] | ; OR FREH @i-Ugu 309 9 & X @Rl & U aes

TURIGd HUE & oS H, i 37 70 el # 9 999 Suged Il &1 99 Sig:
(1) T FR I =1 8

(2) sy 1 3R 11 1 a0 &

(3) Ty 9El & A7 sy 11 o &

(4) FYT1 700 & AT FuT I 981 2




1[Option ID=19241]
2[Option ID=19242]
3[Option ID=19243]
4[Option ID=19244]

Sl. No.20
QBID:15550220

Give below are two statements :
Statement I : Education is important for both male and female.
Statement II : Government must encourage co-education. as it is required for country's development.

In the light of the above statements. choose the most appropriate answer from the options given below

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement IT are mcorrect
(3) Statement I is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement II is correct

e wra R &
FUA | ; goul SR afgenedt, S % Ry fren Aecanf £ |
FUT ] | : PR 51 To-W81 $1 W= &1 9oy e T 0 & fiem & fiw s & |

IulE HYF & R H, A (30 0 Bl # 9 999 Sugsd I &1 999 S
(1) =] AR SH 581 2

(2) FYA] R I F1 e &

(3) wu= 1 981 & @it &= 11 7o &

(4) FyF [ Toa ©, AT FuE 11 96 R

1[Option ID=19249]
2[Option ID=19250]
3[Option ID=19251]
4[Option ID=19252]

Sl. No.21
QBID:15550221

H . 1 then the valueof |, 1 is
X

x‘+—:=2 =
x x
(1) =2
(2) =8
3) =1
4) =4
afe 1 r 1 19 ER -
x+—==2 =
X X
(1) =2
(2) =8
3) =1
(4) =4

1[Option ID=19253]
2[Option ID=19254]
3[Option ID=19255]
4[Option ID=19256]

Sl. No.22
QBID:15550222

Give below are two statements: one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : If the volumes of two cubes are in the ratio of 3:27 then their surface areas are in the ratio of 4:0.

Reason R : If the surface areas of two cubes are in the ratio S} : §. then their volumes are in the ratio §2* - §3°

In the light of the above statements. choose the correct answer from the options given below :
(1) Both A and R are true and R is the correct explanation of A

(2)




Both A and R are true but R is not the correct explanation of A
(3) Aistrue but R is false
(4) Ais false but R is true

1 31 B [T U & U SHUBYUA (Assertion A) & &Y T (R g Al GIRT 3D BRUI (Reason R) & ¥ H:

YT A Tfe & 5 F I BT S 3:27 8 T 35 g AFHE B ST 4:9 T

BRUIR : A 1 91 & FIE &ABE BT S S; : 5, © ol 379 TG BT AT 52 - 528 BN

SRIFd BYF D 3P |, A1 iU 7 fawedi & T T61 IR &1 994 Difo |
(1) ARREA TS IRR,ADI T ORSAT &

@) A RR I TAE AP R A P IS AR TR B

() ATGE U@R 39A®

(4) AU EUPIRTT S

1[Option ID=19257]

2[Option ID=19258]

3[Option ID=19259]
4[Option ID=19260]

Sl. No.23
QBID:15550223

If the high and base radius of a cone are increased by 50% and 25% respectively then the ratio between the volume of a given cone and
the new cone is

(1) 8:27
(2) 75:32
(3) 32:75
(4) 27:8
fe fordl <igp @1 318 SR SMYR el Bl HHTE: 50% R 25% g1 431 & dl R 2P SR 94 W & 31a- @1 SiTd g7l -
(1) 8:27
(2) 75:
(3) 32:
(4) 27:

] T
ho2

[=a]

1[Option ID=19261]
2[Option ID=19262]
3[Option ID=19263]
4[Option ID=19264]

Sl. No.24
QBID:15550224

The probability of selecting a vowel from the word TRIANGLE is -

1)
(2)
(3)

(4)

T3 TRIANGLE # ¥ 05 TR g &1 Wiaiedl & gril-

1)
(2)
(3)

(4)

Collh Gl s G0l = |k e @01 W GOl 1= ] k2

1[Option ID=19265]
2[Option ID=19266]




3[Option ID=19267]
4[Option ID=19268]

Sl. No.25
QBID:15550225

If one root of quadratic equation .2 3y 4 (2% +1) = 0 is five times the other then the value of k is
3

1) —
16

(2) -

(3) -

G0l W ;lL’J

g
(@) -
g
el e 2 3,y gk 4 1) =0 BT U HE GO 1 91T T & T k P AN FEAT 2
3
1) —
16
) -

3) -

ool W ;lw

3
4) -
8

1[Option ID=19269]
2[Option ID=19270]
3[Option ID=19271]
4[Option ID=19272]

Sl. No.26
QBID:89914241

Two coils of inductance 5 and 15 H have a mutual inductance of 4 H. The maximum inductance from series-connecting the two coils
should be of the following:

(1) 20H

(2) 10H

(3) 28H

4) 12H

&l Paferdl. oo IRP@ 5H 3IR 15 H § 390 RTINS IREHd 4H © | H1 A o1 55 aHl Sioferdl & imad IR Haranad
o 1 g

(1) 20H

(2) 10H

(3) 28H

(4) 12H

1[Option ID=21401]

2[Option ID=21402]

3[Option ID=21403]
4[Option ID=21404]

Sl. No.27
QBID:89914242

A transformer 18 used to match an 8- load to a 288-£2 source. The necessary turns ratio 1s:

(1) 36

(2) 6

3 &

(4) 288

U SRTBIHR &1 IYART 8-Q WIS ®1288Q HId & 1Y G 601 T4 8| 1a%ad By (24) S9Td o:
(1) 36

(2) 6

3 &

(4) 288

1[Option ID=21445]
2[Option ID=21446]




3[Option ID=21447]
4[Option ID=21448]

Sl. No.28
QBID:89914243

If a series circuit has R=2 Q. L =20 mH. and C = 2uF. the approximate value of the circuit's resonant frequency is:
(1) 8kHz

(2) §MHz

(3) 800 Hz

(4) 80 kHz

gfe RIS aRgy & R

(1) 8 kHz
(2) 8 MHz
(3) 800 Hz
(4) 80 kHz

2 Q. L=20mH. 3R C =2uF, 3. a1 aRYY B 3FAIET ST T &

1[Option ID=21489]
2[Option ID=21490]
3[Option ID=21491]
4[Option ID=21492]

Sl. No.29
QBID:89914244

Five Cycles are counted on a oscilloscope over a time span of 100 ps. The frequency of this waveform is:
(1) 5kHz

(2) 5MH=z

(3) 20kHz

(4) 50 kHz

100 us 1 T fawgia o di= =] &1 TUFT ald-Tex R S Sl 5 | S8 091 =Y &1 A1gR 6:

(1) 5kHz

(2) 5MH=z

(3) 20kHz

(4) 50 kHz

1[Option ID=21533]
2[Option ID=21534]
3[Option ID=21535]
4[Option ID=21536]

Sl. No.30
QBID:89914245

If a dieclectric with K = 6 is inserted between the plates of an air capacitor, the new capacitance compared with the initial value is

(1) 6 times smaller
(2) not changed

(3) 36 times larger

(4) 6 times larger

gle U UIRTdGYd ST K = 6 8. 919 HUINA &t ufgarsil & gey o [iay o man g dl 45 uial uRiYe uRam & gamed
g

(1) 6 AT S grft
(2) gl gga
(3) 36 AT
(4) 6 AT

1[Option ID=21577]
2[Option ID=21578]
3[Option ID=21579]
4[Option ID=21580]

Sl. No.31
QBID:89914246

For transistor action. which of the following statements are correct?
(1) Base. emitter and collector regions should have similar size and doping concentrations.
(2) The base region must be very thick and heavily doped.

(3) The emitter junction is forward biased and collector junction is reverse biased.




(4) Both the emitter junction as well as the collector junction are forward biased.
giforeex foban 3 Hafad el Y- ugaiy|

(1) YR, Iesier R TGP WHI BT ADR AR S/ Figdl HH g1 T
(2) 3TUR R Fgd HieT 3R T 19 arefl 81 =y

(3) Ioier S 37 SHfAf 8 SR Ture® 9 vgfefde sfimd )

() T Iegeiep IR HATED Wl o7 il 8|

1[Option ID=21621]
2[Option ID=21622]
3[Option ID=21623]
4[Option ID=21624]

Sl. No.32
QBID:89914247

The electrolyte in an alkaline-manganese cell is

(1) Ammonium Chloride
(2) Potassium hydroxide
(3) Sulfuric acid

(4) Manganese dioxide

&t B 99 | fagygd soaeg s e?
(1) I ®IRES

(2) UIclRod gEeiaEgs

(3) HHIRS 3T

(4) HTHIS SIEATHSS

1[Option ID=21665]
2[Option ID=21666]
3[Option ID=21667]
4[Option ID=21668]

Sl. No.33
QBID:89914248

A lead-acid cell is rechargeable because
(1) Its electrolyte is sulfuric acid.

(2) Itis a wet cell.
(3) Its chemieal reaction is reversible.
(4) Its electrolyte has a high specific gravity.

137 e G0 SR Haodl § Fifo:

(1) 3T f45d HITed GerR@ i g

2) T 3¢ qA 5

(3) 3P AEE i Sopguia 21

) 5% fIggd aduey &1 Ay eF@ s= B

1[Option ID=21693]
2[Option ID=21694]
3[Option ID=21695]
4[Option ID=21696]

Sl. No.34
QBID:89914249

A 100-Ah capacity battery should deliver a current of 8 A for approximately
(1) 12h

(2) §h

(3) 20h

(4) 100 h

U 100-Ah &HAT BI Sl 8 A URT & Hdlied G4 fdha- I9T & o &edi 8
(1) 124
(2) gH¢




(3 206
(4 100 He

1[Option ID=21697]
2[Option ID=21698]
3[Option ID=21699]
4[Option ID=21700]

Sl. No.35
QBID:899142410

Identify the property which is not characteristic for a semiconductor?

(1) At a very low temperature. it behaves like an insulator.

(2) At higher temperatures. two types of charge carriers will cause conductivity.

(3) The charge carriers are electrons and holes in the valance band at higher temperatures.

(4) The semiconductor is electrically neutral.
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If no external voltage is applied across p-n junction. there would be:

(1) No electric field across the junction.

(2) An clectric field pointing from n-type to p-type side across the junction.
(3) An electric field pointing from p-type to n-type side across the junction.

(4) A temporary electric field during formation of p-n junction that would subsequently disappear.
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Why is there sudden inerease in current in Zener diode ?
(1) due to rupture of bonds

(2) resistance of depletion layer becomes less

(3) due to high doping

(4) none of these
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In a transistor amplifier, the two a.c. current gains o and B are defined as @ = Al /Al and p=Al./Al, . the relation between o and p is:
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For a transistor amplifier. the voltage gain

(1) is high at high and low frequencies and constant in the middle frequency range
(2) is low at high and low frequency and constant in the middle frequency range
(3) remains constant for all frequencies

(4) 1s high at high frequencies and low at low frequencies and constant in middle frequency range
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The maximum voltage that can be induced in a 50- cm length wire moving at 10 m/s through a field of 0.5 T is:
1) 25V

(2) 25V

(3) 250V

(4) 250 mV
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(1) 25V

(2) 2.5V

(3) 250V

(4) 250 mV
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Consider an n-p-n transistor amplifier in common-emitter configuration. The current gain of the transistor is 100. If the collector current
changes by IlmA. what will be the change in emitter current?

(1) 1.ImA

(2) 1.01 mA

(3) 0.0l mA

(4) 10mA
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(1) 1.1 mA

(2) 1.0l mA

(3) 0.01 mA

(4) 10 mA
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A light emitting diode (LED) has a voltage drop of 2 V across it and passes a current of 10 mA when it operates with 6 V battery through a
limiting resistor R. The value of R is:

(1) 40k

(2) 4kQ

(3) 200Q

(4) 400
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(1) 40kQ

(2) 4kQ

(3) 200Q

(4) 400 Q
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A parallel combination of 0.5 pF. 100 V and 1 pF, 50 V has an equivalent value of
(1) 1.5uF, 50V

(2) 1.5 uF, 150V

3) 3pF 50V

(4) 1.5 uF, 100V

0.5 uF. 100V 3R 1 uF. 50 V & GHIAR HUISH &1 GURHI (GOl 014) Hafeiad § 3 o1 grm
(1) 1.5pF. 50V

(2) 1.5 uF. 150V

3) 3uF 50V

(4 1.5 uF. 100V
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The peak voltage in the output of a half wave diode rectifier fed with a sinusoidal signal without filter is 10 V. The d.c. component of the
output voltage is

1) 10/2V

(2) 1VaV
(3) 10V




4) 20/m V
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In a P-n junction photocell. the value of the photo-clectromotive foree produced by monochromatic light is proportional to:
(1) the barrier voltage at the p-n junction

(2) the intensity of the light falling on the cell

(3) the frequency of the light falling on the cell

(4) the voltage applied at the p-n junction
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A transistor oscillator using a resonant circuit with an inductor L (of negligible resistance) and a capacitor C in series produces oscillations
of frequency f. If L is doubled and C 1s changed to 4C. the frequency will be

(1) £2

(2) f4

(3) &f

(4) 242
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(2) f/4
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Latches are circuits
(1) edge triggered
(2) level triggered
(3) pulse triggered

(4) count triggered
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The number of FF in hexadecimal system is equivalent in decimal system to
1)
(2)
(3) 240
(4) 239
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(1) 256
(2) 255
(3) 240
(4) 239
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The chief advantage of Schottky TTL logic family is its least
(1) power dissipation

(2) propagation delay

(3) fan-in

(4) noise immunity
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The main advantage claimed for ECL family of logic gates is its
(1) very large fan-in

(2) use of negative power supply

(3) extremely low propagation

(4) least power dissipation
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Special features of an 1°L logic circuit is that it

(1) uses only high value resistors

(2) dissipates negligible power

(3) is a bipolar saturated logic

(4) uses no biasing and loading resistors
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CMOS eircuits are extensively used for one chip computers mainly because of their extremely
(1) low power dissipation

(2) large packing density

(3) high noise immunity

(4) low cost
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Which of these sets of logic gates are disignated as universal gates?
(1) NAND. NOR

(2) OR. AND

(3) NOT. OR

(4) XOR. XNOR

AR difee eg 9= § I $IH-31 7 QdHE 11T Soardl o7
(1) NAND. NOR

(2) OR.AND

(3) NOT. OR

(4) XOR. XNOR
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If two identical 3 A, 4 Q Norton equivalent circuits are connected in parallel with like polarity to like, the combined Norton equivalent
circuit is
1) 6A. 4@
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(3) 3A,
(4) 6A,
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The main function of a capacitor is to

(1) block current flow

(2) help current flow

(3) store energy

(4) dissipate heat
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The power factor of a resonant series circuit is
1) 1

(2) 0

3 -1

(4) 0.5

SFATET 0Tt oRgy 1 wfad U &
1) 1

2 0

3) -1

(4) 0.5
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The maximum overall efficiency of a transformer-coupled class A amplifier 1s
(1) 78.5%

(2) 25%

(3) 50%

(4) 85%

SHAPIER g a1l A vade o sfimas 9 e &

(1) 78.5%

(2) 25%




(3) 50%
(4) 85%
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An amplifier with no feedback has a gain-band-width product of 4 MHz. Its closed-loop gain is 40. The new bandwidth is
(1) 100 kHz

(2) 160 MHz

(3) 10MH=z

(4) 20kHz

U yatfe forms g eT 8. 9@ afe §5 faR &1 I0M 4 MH ©, SH®! Tad UIR afed 40 §1 147 88 fawR &
(1) 100 kHz

(2) 160 MHz

(3) 10 MH=z

(4) 20kHz
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To avoid thermal run away in the design of analog circuit. the operating point of the BJT should be such that it satisfies the condition
1) V=12V,

(2) Vg <12V,

(3) Vg™ 12V,

(4) Vg <0.78V..

T 99y & uRR=u ¥ i Reer 9 §=1d & U BIT &1 Y=1a- fdg Uan g1 91et i a8 Hafafad [Rufd o Gqy &2

(1) Vg =12V

(2) Ve =12V,
3) V=12V,
(4) Vg =078V
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The biasing circuit that gives best stability to Q- points is

(1) potential divider biasing

(2) feedback resistance biasing

(3) base resistance biasing

(4) emitter resistor biasing
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The voltage gain of common drain JFET amplifier equals to unity only when
(1) gm‘};RL By (r,.|+ Ry ]

@ gmigRy << (rg+ RE_]

@) emfyRe = g+ Ry

@ gmyRp = Z[rd+ R,_}
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(2) EmrdRi. ek (Td+ RE.]
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Which of the statement is wrong regarding negative feedback in amplifiers ?
(1) It widens the separation between 3 dB frequencies

(2) It increases the gain-bandwidth product

(3) It improves gain stability

(4) It reduces distortion
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Since input resistance of an ideal OP-AMP is mfinite. then
(1) its output resistance is zero

(2) its output voltage becomes independent of load resistance
(3) its input current is zero

(4) it becomes a current-controlled device

R 3SR op-AMP BT TG TfRRIY 3UfitE § 3af:
(1) TS (H7id ufaRiY okl 21

(2) @] FA77d dieedl S|R Al T Wad gikl o
(3) SHDI 3N [dggd URI iR 5|

(4) I% U fagyd yRT Fafd o9 s Srar 3

1[Option ID=21525]
2[Option ID=21526]
3[Option ID=21527]
4[Option ID=21528]

Sl. No.64




QBID:899142439
Tuning eircuits use the principle of

(1) resonance
(2) maximum inductance
(3) maximum energy transfer

(4) modulation

TR IRy Fafafea § ¥ o1 3 Rigid & i R 82
(1) "l
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(4) HIgTH
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How many JK {lip flops are required to design mod-8 counter

(1) 3

(2) 4

(3) 5

@ 6

H7S-8 70T & IR & fe7T fohe JK fTRI0-TeilT ®1 STa=g el gl 82
(1) 3

(2) 4

3) 5

(4)

h
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Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.
Assertion A: Most amplifiers use common emitter circuit configuration
Reason R: Tts input resistance is comparatively higher.

In the light of the above statements. choose the most appropriate answer from the options given below:
(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R is NOT the correct explanation of A

(3) A is correct but R is not correct
(4) A isnot correct but R 1s correct
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Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.
Assertion A: Wein bridge oscillators is used in all commercial audio generators
Reason R: Wein bridge oscillators generates frequencies in the range of 10 Hz to 1 MHz.

In the light of the above statements, choose the most appropriate answer from the options given below:
(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R is NOT the correct explanation of A

(3) A is correct but R is not correct
(4) A is not correct but R is correct

T 31 B AU U 8.Ugd HYH DI SUHYH (A) G Bl SRV (R) A1 foar T g |
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1[Option ID=21545]
2[Option ID=21546]
3[Option ID=21547]
4[Option ID=21548]

Sl. No.68
QBID:899142443

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason B
Assertion A: FM signal 15 much more immune to noise than AM reception
Reason R: FM recervers have amplitude limiters to remove amplitude variations caused by noise.

In the light of the above statements, choose the most appropriate answer from the options given below:
(1) Both A and R are correct and R 1is the correct explanation of A

(2) Both Aand R are corract but R is NOT the correct explanation of A

(3) Aiscorrect but R is not correct

(4) Aisnot correct but Ris correct
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PRUIR: FM HATE H SO He gid 8. @i gR1 S19H § gikdd- geH & |

SWRIG &I DY & 3l |, i fu T fasedl # 9 9 Suga T O 989 DI
(1) A 3R R S T8l € AR R, A B! U5 RS g1

(2) A 3R RS 98§ R A% . A Pt Tel TRE TR B

(3) A E AT R TE TR B

(4) A9g! el ¢ Afdh R TSl B

1[Option ID=21549]
2[Option ID=21550]
3[Option ID=21551]
4[Option ID=21552]

Sl. No.69
QBID:899142444




Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.
Assertion A: Laplace equation 1s a special case of Poisson's equation
Reason R: The mathematical expression of Laplace equation can be written as A*V =10

In the light of the above statements. choose the most appropriate answer from the options given below:
(1) Both A and R are correct but R is NOT the correct explanation of A
(2) Both A and R are correct but R is NOT the correct explanation of A

(3) A is correct but R is not correct
(4) A is not correct but R is correct

2 3 Py U TN B 0sd BU B SfiBYT (A) GER BT BRI (R) A faa T B
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Given below are two statements: one is labelled as Assertion A and the other 15 labelled as Reason R.

Assertion A: In a D/A converter made with binary weighted resistors. it is difficult to maintain high accuracy as the number of bits
mereases

Reason R: Obtaining a stable, precise resistors with large spread in their values is very difficult.

In the light of the above statements. choose the most appropriate answer from the options given below:
(1) Both A and R are correct and R 1s the correct explanation of A
(2) Both A and R are correct but R is NOT the correct explanation of A

(3) A is correct but R is not correct
(4) A is not correct but R is correct
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Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.

Assertion A: The combination of three identical RC section provides self-bias for the phase-shift oscillator.

Reason R: In phase-shift oscillator, each RC section of feedback network produces a phase shift of 120°. Thus. a total of 120° x 3 = 360°
phase shift.

In the light of the above statements. choose the most appropriate answer from the options given below:
(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R is NOT the correct explanation of A

(3) A is correct but R is not correct
(4) A is not correct but R is correct

2 3 Py fou U B 0ed Tu Bt AfiBYT (A) GER B HRON(R) A fama T B

3fHYF A: I U THM RC J9H &1 G0 Sdl [T &lad & oy WYl WeH $dl g
BRUIR: Hal [T Eledd B gHR0T Aede B 8 RC YR 120° BT Hal HIRITIT BT IATE Pl 3. 3 Tuf 120° x 3 = 360°
CASINGRIBET

SWRIe G B & el T, 1< 30 T fodredl T 9 969 Sugad TR &1 98- BIfeT:
(1) A 3R R EHI 981§ SR R. AP el UrRaAT B

(@) A SRR EH TEE AR R. A DI TEI IRAT T8 6

() AYE R AfFTR TG TSI B

(4) AVl ¢ AP R Tal ol

1[Option ID=21561]
2[Option ID=21562]
3[Option ID=21563]
4[Option ID=21564]

Sl. No.72
QBID:899142447

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.
Assertion A: Bipolar junction transistor (BJT) is a bipolar device
Reason R: BIT is a current-controlled device where input current (base current lg) controls the current through the device.

In the light of the above statements. choose the most appropriate answer from the options given below:
(1) Both A and R are correct and R 1s the correct explanation of A
(2) Both A and R are correct but R is NOT the correct explanation of A

(3) A is correct but R is not correct
(4) A is not correct but R is correct

2 3 Py fau U 3. 05d BU B SHfiBUT (A) GER BT BRI (R) A favar a1 B

P A: fgyd! 9fY ciforer 43 (i) U@ fE ydi 93 71
EFI?UT%R: BJT U fdgqd YR Fafiad 8. S S fdegd oRT (MUR [65gd URT Ig) 33 9 (e arel faggd oR1 &1 a0
E2GI

SWRI & YU & el T, 1< 3T T fodbedl T 9 9ad SUgad TR &1 99 BT
(1) AR RS T8I € IR R. A D! gl URA B

(2) A3RREH ol 6 SRR AT el ORA Tel o

(3) AYE? AfFTR TG TS B

(4) AYEITel ¢ AP R Tal ol

1[Option ID=21565]
2[Option ID=21566]




3[Option ID=21567]
4[Option ID=21568]

Sl. No.73
QBID:899142448

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.
Assertion A: Junction Field-Effect Transistors (JFET) has higher switching speeds and cut-off frequencies
Reason R: JFET doesn't suffer from minority-carrier storage effects

In the light of the above statements, choose the most appropriate answer from the options given below:
(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R is NOT the correct explanation of A

(3) A is correct but R is not correct
(4) A is not correct but R is correct

T 31 B AU U 8.Ugd HYH DI SUHYH (A) G Bl SRV (R) A1 foar T g |

e A: TR &=-uTE iforex (JFET) H e e re 3iR Be@ s gt 81
PRUTR: U 8F-THTG Tiforex JFET) | 3IeIT9-aTe® U T WHTd -7el aidl |

SR G-I BT @b 3f1ale H, A U Y [depedl # 3§ 9 Iugad IR B 99+ BIIU:
(1) A SRR EH T8l ¢ IR R, A DI Gl URA &

() ASRREH UGl R R, A D U ogre gl g

(3) A TSI g AfGI R T8 T8l Bl

(4) A9EI A8l ¢ AfP-R Tal gl

1[Option ID=21569]
2[Option ID=21570]
3[Option ID=21571]
4[Option ID=21572]

Sl. No.74
QBID:899142449

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.
Assertion A: Two independent sources cannot be coherent
Reason R: Light is emitted by individual atoms and not by the bulk of matter acting as a whole.

In the light of the above statements. choose the most appropriate answer from the options given below:
(1) Both A and R are correct and R 1s the correct explanation of A
(2) Both A and R are correct but R is NOT the correct explanation of A

(3) A is correct but R is not correct
(4) A is not correct but R is correct

) 3t Py fau U 3050 TU B AfiHUT (A) GER BT HRON(R) A faman a3

BT A: 31 W0 AId 985 T8l 8 9|
PRUIR: UPIY Uehd YRATUSH & GRT Icfoid 5idl ¢ iR e & 1SR S Us Hyul 1A & & GRI e]|

SWRI & YU & el T, 1< 3T T fodhedl T 9 9ad SUgad SR &1 99 BT
(1) A SRR EH 981§ SR R. A S] Tol araAT B

(@) A SRR EH TEE AR R. A DI TEI IRAT T8 5

(3) A el g WH-TR Fel T8l o

(4) AYEITel ¢ AP R Tal ol

1[Option ID=21573]
2[Option ID=21574]




3[Option ID=21575]
4[Option ID=21576]

Sl. No.75
QBID:899142450

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.
Assertion A: 'RET' is a branch instruction. It changes the program sequence.
Reason R: 'RET instructions affect the operation of the microprocessor.

In the light of the above statements, choose the most appropriate answer from the options given below:
(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R is NOT the correct explanation of A

(3) A is correct but R is not correct
(4) A is not correct but R is correct

9 31 B AU U B.05d S I @Y (A) TR & SR (R) A1 fhar T g

YT A; RET TP 19 THCHA ¢ | T8 WIATH B Tfehar I §5d Sl o
PRUIR: 'RET SUCARM HEHINRR & S0 & gHifad i ol

SR G-I BT @b 3f1ale H, A U Y [depedl # 3§ 9 Iugad IR B 99+ BIIU:
(1) A SRR EHI TSI § IR R. A DI el oUraA g

(2) A 3IRREH 98I § did R, A B Tgl UReAT ol 6

3) AT T ABIR TS T B

(4) A9EI A8l ¢ AfP-R Tal gl

1[Option ID=21581]
2[Option ID=21582]
3[Option ID=21583]
4[Option ID=21584]

Sl. No.76
QBID:899142451

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.
Assertion A: Soft iron is used in permanent magnets whereas steel is used in temporary magnets
Reason R: Coercivity of soft iron is smaller whereas coercivity of steel is larger.

In the light of the above statements. choose the most appropriate answer from the options given below:
(1) Both A and R are correct and R 1s the correct explanation of A
(2) Both A and R are correct but R is NOT the correct explanation of A

(3) A is correct but R is not correct
(4) A is not correct but R is correct

) 3t Py fau U 3050 TU B AfiHUT (A) GER BT HRON(R) A faman a3

BT A: Og AIe P1 Iugi Rl 96 a1 & oy fova 5iran 8 oafd €id o1 IuanT s/ 99@ a9F & gl
BRUR: Hg TlE B! Gl PH gidl ¢ oiaid Wiel B g 3w gl g1

SWRI & YU & el T, 1< 3T T fodhedl T 9 9ad SUgad SR &1 99 BT
(1) A 3R R EH 981§ SR R. AP el UrRaAT 8|

(2) A SRR EHI TEI  Afd- R, A B el IS el o

(3) A el g WH-TR Fel T8l o

(4) AYEITel ¢ AP R Tal ol

1[Option ID=21585]
2[Option ID=21586]




3[Option ID=21587]
4[Option ID=21588]

Sl. No.77
QBID:899142452

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.
Assertion A: The 8085 is known as a 8-bit processor
Reason R: The 8-data lines enable the microprocessor to manipulate data ranging from 00 to FF (2% = 256 numbers)

In the light of the above statements, choose the most appropriate answer from the options given below:
(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R is NOT the correct explanation of A

(3) A is correct but R is not correct
(4) A is not correct but R is correct

1 31 B AU U 8.U5d HYH DI SUHYH (A) IR B SRV (R) A1 foa1 a1 3|

3fipYT A: 2085, § foe GoIfes Beam |
PROIR: 8§ G WS, AISHHNIR DI MBS oXWbr orH] [G5IR 00 T FF (28 = 256 361 6 & &3 & 994 Bedl B

SR G-I BT @b 3f1ale H, A U Y [depedl # 3§ 9 Iugad IR B 99+ BIIU:
(1) A SRR GHI T8I § IR R. A DI el oUra g

(2) A 3IRR G U8l § didA R, A B Ugl ORI ol 6

(3) A TSI g Al R T8 T8l Bl

(4) A9EIFEl ¢ AfP-1R Tal gl

1[Option ID=21589]
2[Option ID=21590]
3[Option ID=21591]
4[Option ID=21592]

Sl. No.78
QBID:899142453

Given below are two statements:
Statement I: An astable multi-vibrator generates square waves from testing video amplifiers.
Statement IT: The amount of feedback is so large that transistors are driven between cut-off and saturation.

In the light of the above statements. choose the most appropriate answer from the options given below:

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement IT is incorrect
(4) Statement I is incorrect but Statement II is correct

TR grpyTfeumm®

Y 1. U TAIed agebiUA. 911 a1 Sd Pl ¢ difsal Uaee &1 iiem & & fou|

YA 11: G: [y 1 ol ga= st giar g fé gifoRex side 3R dqit & g enfad siar g |
SWRIE & Byl & i T, 113U T faedl ¥ 9 96y Sugad IR &1 98- SIS

(1) HYF | AR FHYF 1| A Tel B

) FYF | AR FYF 11 A TET B

(3) ®YF | Tol g Al HY=T 1 Tel ol gl

(4) HYT | el Tel & afe YT 11 el gl

1[Option ID=21593]
2[Option ID=21594]
3[Option ID=21595]
4[Option ID=21596]




Sl. No.79
QBID:899142454

Given below are two statements:
Statement I: In DSB-SC generation carrier component is suppressed, hence power saving is around 66.7%
Statement IT: In SSB-SC generation. side-bands and carriers, all are suppressed.

In the light of the above statements. choose the most appropriate answer from the options given below:

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement IT is incorrect
(4) Statement I is incorrect but Statement II is correct

TR ey E
HYA I DsB-sC H IdIe- dlg® Y o5 il § SHend Ufdd P dad T 66.7% Bial ol
DY II: 5SB-SC IATEA 1, T d8 3R aed Mt Feg sl €1

QRIS &M PY & 3Tl |, i {4 7 fawedl § 4 9ad Sugd T S 99 DT
(1) YT ARPY 11 aHI TRl gl

(2) FHYF [ R PYF 11 gHI Tad g

(3) PYFTI TGl § AP dYT 11 Tl ol gl

(4) HYF 1981 5] § A HYF 11 Tel gl

1[Option ID=21597]
2[Option ID=21598]
3[Option ID=21599]
4[Option ID=21600]

Sl. No.80
QBID:899142455

Given below are two statements:

Statement I: In FAX (Facsimile telegraph). the black and white dots of the document are encoded and compressed for transmission and
reception via telephone lines.

Statement IT: At the sender end, document is processed by the printer and at the recerver end. document is read by a scanner.

In the light of the above statements. choose the most appropriate answer from the options given below:

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement IT is incorrect
(4) Statement I is incorrect but Statement II is correct

TR PyfiumE

BYAL: Fax (PRATET o) B exdldl & ol 3R 9 [dg difsd 3R YUISd gid 5. STt = &1 dlg-l gRT §aRUT 3R

HTgU & fou )
U 11: 3 ofifTa IR = &1 wepa fliez gR1 fhar Sidr © iR ife! eff9a R Seaas hadieid gRI Yo ol oiidl ol

SWRIe G YU & el T, 1< {30 7 fodredi T 9 9ad Sugad 3R &1 98- BIfeT:
(1) FYT AR PYT I IH TR B
(2) HYF 1R FHYF 1 gH Tad g

(3) Y1 Tl g dfh- HYT 11 gl ol gl
(4) HYF 196! 781 ¢ Al Y II Tel gl

1[Option ID=21601]
2[Option ID=21602]
3[Option ID=21603]
4[Option ID=21604]

Sl. No.81
QBID:899142456




Given below are two statements:
Statement I: The circuit is said to be voltage follower when gain is only unity.
Statement IT: Voltage follower is a special case of inverting amplifier.

In the light of the above statements. choose the most appropriate answer from the options given below:

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement IT 1s incorrect
(4) Statement I is incorrect but Statement II is correct

TR pufumE

B 1. Bls URIY diced] ST Heard ¢ afe aisf Had U 6|

Y I1: diecdl ST U S@R] Yot o1 =y JEex0l 6|

SWRIE I Yl & 3Tl |, i fU T fasedl § 4 9ad 9ugad SR D1 98- DI
(1) FYFI AR BYF I HI Tal ol

(2) HYF [ AR FYF [ aH Tad g

(3) HYT1 ol ¢ Al PYT 11 I el gl

(4) HYT 161 T8l § AT HYT 11 Fel gl

1[Option ID=21605]
2[Option ID=21606]
3[Option ID=21607]
4[Option ID=21608]

Sl. No.82
QBID:899142457

Given below are two statements:
Statement I: The terminal is grounded directly.

Statement IT: The termmal is not physically grounded but terminal voltage is zero because the other terminal 1s connected to the ground
due to OP-AMP properties.

In the light of the above statements. choose the most appropriate answer from the options given below:

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement IT is incorrect
(4) Statement I is incorrect but Statement IT is correct

R puafRumE

B 1 et dlur y&ufdd 3

HYA I1: T ifde 9 Y YHulhd A8l 5. U cii-d dieedl Y § ddii gaRI eii-d YIuldbd § op-amp faguarst &
FHROT|

SWRIG & Yl & el T, =19 53U 7 faedl ¥ 9 ey Sugad I &1 98- SIS

(1) YA AR PYA 11 HI T8l &

@) YA [ R YT 1 H Tad g

() HYF1 Tol g afde- HYF 11 Tl Toigl

(4) DY 1 GEI 81 € A HY= 11 Tel gl

1[Option ID=21609]
2[Option ID=21610]
3[Option ID=21611]
4[Option ID=21612]

Sl. No.83
QBID:899142458




Given below are two statements:
Statement I: Norton's equivalent of a circuit consists of a constant-current source in series with an infinite resistance.
Statement IT: Norton's equivalent of a circuit consists of a constant-voltage source in parallel with a high resistance.

In the light of the above statements. choose the most appropriate answer from the options given below:

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement IT 1s incorrect
(4) Statement I is incorrect but Statement II is correct

TR pufumE

BYTL: AICA &b SR URYY BT FHH &1 g1 & 2R f3ggd Jid 4t # srid wiiRie & |y
BYTIL: e P STHR IRTY BT AT &1 81 & FR faegd Jid 9aior & 9= ufckiy & |1y
SWRIE I Yl & 3Tl |, i fU T fasedl § 4 9ad 9ugad SR D1 98- DI

(1) FYFI AR BYF I HI Tal ol

(2) HUF 1 AR HYF 1 S TTad g

(3) U1 T T Al H2A 11 TE AL T

(4) HYT 161 T8l § AT HYT 11 Fel gl

1[Option ID=21613]
2[Option ID=21614]
3[Option ID=21615]
4[Option ID=21616]

Sl. No.84
QBID:899142459

Given below are two statements:
Statement I: In microprocessor. register array perform various logic operations such as AND. OR, and exclusive OR.
Statement IT: In register array. various registers are identified by letters such as B, C. D. E and H.

In the light of the above statements. choose the most appropriate answer from the options given below:

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement IT is incorrect
(4) Statement I is incorrect but Statement II is correct

TR PyfiumE

BYA I: AISHIYIGER 1 Mforex wRufl G YHR & dd Y=Ie &dl & o AND, OR, 3 UeHaR][4d or
HY 11 Ioreex WOl H, 3@ IR $1UgaM e, ¢ D, E FRHAM A BT § |

SWRIG &I PY & 3Tl |, i fu 7 fawedl § 4 9ad Sugd T S 989 DT
(1) YT AR DY I aF TRl gl

2) FHYF [ R PYF 11 gHI Tad g

(3) HYT1 TEt 8 AP FUF 11 T B

(4) HYF 170 & AT PUT 11 Tal gl

1[Option ID=21617]
2[Option ID=21618]
3[Option ID=21619]
4[Option ID=21620]

Sl. No.85
QBID:899142460




Given below are two statements:
Statement I: Low-level language is a machine-dependent language.
Statement IT: The machines, and the assembly languages are considered as low-level languages.

In the light of the above statements. choose the most appropriate answer from the options given below:

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement IT 1s incorrect
(4) Statement I is incorrect but Statement II is correct

TR pufumE

HYA 1. 79 TR 4T U 7 R 4w g
HYT 11 A 3R THRISH HIST 9 TR {1 A7 ot 21

SWRIE I Yl & 3Tl |, i fU T fasedl § 4 9ad 9ugad SR D1 98- DI
(1) FYFI AR BYF I HI Tal ol

2 FHYF 1 AR FYF 1 SH Tad gl

(3) TYTI el ¢ AP HYA I Tad gl

(4) HYF 1770 & AihT DU 11 Tel gl

1[Option ID=21625]
2[Option ID=21626]
3[Option ID=21627]
4[Option ID=21628]

Sl. No.86
QBID:899142461

Given below are two statements:

Statement I: The address bus is a group of 16 bidirectional lines for flow of data between microprocessor and memory and peripheral
devices.

Statement IT: The control bus synchronization signals, and microprocessor used them to provide timing signals.

In the light of the above statements. choose the most appropriate answer from the options given below:

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement IT is incorrect
(4) Statement I is incorrect but Statement IT is correct

R puafRumE

FUTI: @HWMWWW@%%@H%HWE%WMWMMM Gmﬁjld SR afvelg 9o & |
FHUA I1: g% S0 Hdval &1 THHH S0 © SR ATSHIVIRER 501 W JHT Hdrd W $1 & Hdl ¢
SR GHI DU P 3M7ciies H, =< U 7Y fddedl § 9 99 IUgd S P1 95 BITOIT:

(1) HYT1 AR BYT 11 SIHI T8l 8

2) YA [ R FYF 11 H Tad g

(3) HYT1 Fol g A HYT 11 Td gl

(4) FHYF 17194 & Afde HUF 11 Tel g

1[Option ID=21629]
2[Option ID=21630]
3[Option ID=21631]
4[Option ID=21632]

Sl. No.87
QBID:899142462




In the 8085 Microprocessor flags

Given below are two statements:

Statement I: Zero flag is set to 1 when the result is non-zero. otherwise it is reset.

Statement IT: In parity flag. if the result has odd numbers of 1s. the flag is set: for an even number of 1s. the flag is reset.

In the light of the above statements. choose the most appropriate answer from the options given below:

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement IT is incorrect
(4) Statement I is incorrect but Statement II is correct

TSPy

HYTI: 8085 TSHIVITGR TelT & X FavT o1 1 IR FAfda oxa § o afoms g =21 gran ot 39 O Ffig s §1
aw:m:aﬁt%q%ﬂ%ﬁuﬁqﬁum 1s 31 fa TReaT § O v &1 3 (Fe) G Sar 8: 1s 31 91 e & o wer o -
Al (o) sd B

SWRI G YU & el T, 1< 30 7 fodredl T 9 9ad Sugad 3R &1 98- BIfeT:
(1) FYF IR PYT 11 SH Te1 &

(2 HYF [ RFYF NaH a5l

(3) Y1 ol § Afced HUF 11 Tad g

(4) YT 1770 § Qi PUT 11 Te g

1[Option ID=21633]
2[Option ID=21634]
3[Option ID=21635]
4[Option ID=21636]

Sl. No.88
QBID:899142463

Given below are two statements:
Statement I: In Lloyd's mirror method. two coherent sources are obtained from the same parent source. by refraction
Statement IT: In Fresnel's biprism method, a source and its reflected image act as two coherent sources.

In the light of the above statements. choose the most appropriate answer from the options given below:

(1) Both Statement I and Statement IT are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement IT 1s incorrect
(4) Statement I is incorrect but Statement II is correct

TR puTfRumE

HY I: WIS U Yol & 21 Was id W 81 § 99 g0 Hid ¥ SUdd gRT

B 11 ShE g fires ol & id 3ik Suet ufkafda ufafde o Yo Jidl @1 aie &1 ad o
SWRIG &1 DY & 3Teiied |, i {4 7 fasedl § 9 9ad Sugdd S &1 989 DI

(1) FYFI AR BYF I GH Fal gl

() HYF 1 IR YA 13 Tad &

(3) Y1 el & Al DY 11 TTed o |

(4) FHYF1TTE & AP FYT 11 T 2

1[Option ID=21637]
2[Option ID=21638]
3[Option ID=21639]
4[Option ID=21640]

Sl. No.89
QBID:899142464




Given below are two statements:

Statement I: When an unpolarized ray passes through certain crystals like quartz or calcite. it splits up into O-ray and E - ray. This
phenomenon is called double refraction.

Statement IT: The ray which does not obeys the ordinary laws of refraction is called O - ray and the ray which obeys the laws of
refraction is called E-ray.

In the light of the above statements. choose the most appropriate answer from the options given below:

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement IT is incorrect
(4) Statement I is incorrect but Statement II is correct

TS pyafoum e

HYA I: 7F D5 Y R0 6 fovted o TH1ee a1 Heaige I TRl 6. dl I8 o-hR07 3R £ fnvo & fidfea &1 ot 81 359
uRee i fa@ srgada e 2

T 11 =01 Sl 9T Sfgad= & ol &1 SR 8] St o-fB01 Seard g Sk ol f6Rur sruad & Fai &1 ure =l
& £ fopRor pEard 81

SR G-I BT o 3l H, A< U 7Y [deedl # 4 9 Iugad IR B1 99 BIIT:
(1) DY AR DYF 11 GHI Tl 3|

(2) $YF [ IRFYF I aH Tad gl

(3) TYTI el ¢ AP B I Tad gl

(4) YT 177Ad § AT PUT 11 Tel g

1[Option ID=21641]
2[Option ID=21642]
3[Option ID=21643]
4[Option ID=21644]

Sl. No.90
QBID:899142465

Match List T with List IT

LISTI LISTII
Colpitt oscillator I |Audio generator
Hartlev oscillator II. |split-tank capacitor

Armstrong oscillator 111 |Split-tank inductor

o|lo|w| e

Wein Bridge oscillator | IV, |Tickler oscillator

Choose the correct answer from the options given below:
1) A-ILB-IV.C-II,D-I
(2) A-LB-IV.B-III.D-1I
3) A-LB-ILC-IV.D-II
(49) A-II.B-TII.C-IV.D-1I

el 191 941 11 9 [Har Bifoe

A1 A 1
Fateclas | L |yoetE
Bed ald 1L |yed 2@ Tl
HEEr s | |[[FYed 3F IRE
FHigwaas |1V |sruemd sas

frafafad fawed & 3 Wet SR & =0 Siforg ;
(1) A-ILB-IV.C=IL.D-I
(2 A-LB-IV.B-IILD-1I
3) A-LB-ILC-IV,D-II
() A-ILB-ILC-IV.D-I

Olo|w| =




1[Option ID=21645]
2[Option ID=21646]
3[Option ID=21647]
4[Option ID=21648]

Sl. No.91
QBID:899142466

Match List T with List IT

LISTI LISTII
AM radio [ |0.5-20MHz
FM radio II. |88-108 MH=z
VHF TV IIL. |470 - 960 MH=z
UHF TV IV, |47-230 MHz

g0 w|

Choose the correct answer from the options given below:
(1) A-LB-ILC-IV.D-III
(2) A-LB-IV.C-II.D-1III
3) A-ILB-IV.C-1I,D-I
(4) A-IV.B-II.C-III,D-I

Yl 191 931 11 9 fiaH Bifee

el T 1
A |am3fET I |05-20MHz
B. |Fv e II. |88-108 MHz
C. |VHFTV I [470 - 960 MHz
D. [uHFTV V. [47-230 MHz
FrafdRad fasedl O 9 9el 3R &l 994 BT :

1) A-LB-II.C-IV.D-TIII
2) A-LLB-IV.C-II.D-III
3) A-IIILB-IV.C-II.D-1
@) A-IV.B-II.C-III.D-I
1[Option ID=21649]
2[Option ID=21650]

3[Option ID=21651]
4[Option ID=21652]

Sl. No.92
QBID:899142467

In Mnemonics, 8085 Microprocessor

Match List T with List IT

LISTI LISTII
A |ADDR 1 Add contents o.f
memory to register R
B. |ADDM . |Copy the data from
register 10 memory
C. [MOVE M L Copy the data into

register from memory

Add the contents of

D IMOVMR V. :
register to accumulator

Choose the correct answer from the options given below:
1) A-IV.B-LC-II.D-II
(2) A-IV.B-LC-II.D-III
3) A-LB-IV.C-IL.D-II
(4) A-IILB-ILC-IV.,D-I




e 11 g 11 9 e Sifee-

8085 AEHIUEER FHiHeT |
il T 1T

A [aDDR L Eﬂ%ﬁ'%ﬁﬁﬁmﬂm

B. |ADD M 8 ga%”mﬁgm%ﬂﬁ

¢. [Movr M I m%m

D. [MOVM.R v ﬁggﬁﬁﬁ%

Frafaad faeed 7 3 981 IR &1 997 I

1) A-IV.B-LC-III.D-II
2) A-IV.B-LC-II.D-1II
3) A-LB-IV.C-IIL.D-1II
4) A-TILB-II.C-IV.D-I
1[Option ID=21653]
2[Option ID=21654]

3[Option ID=21655]
4[Option ID=21656]

Sl. No.93
QBID:899142468

Match List T with List IT

LISTI LISTII
A lade L L Gauss's La_'n' in
dt electrostatics

Charge conservation
law

B. |fBdl=pgl | I

T Gauss's law in
C. A - B — “' 1L magne“[‘ism

]

D. KF—"'% IV, |Ampere's circmtal law

Choose the correct answer from the options given below:
(1) A-LLB-IV.C-III.D-1I
(2) A-II.B-IV,C-III.D-1
3) A-II.B-TII.C-IV.D-1
4) A-LLB-III.C-IV.D-1I

I 1 1 g 11 E e Sifoe
I T 11
A -‘\lll.-+d_p—“ 1 @Ra@ﬁmﬁ
B. | B.dl= gl 1 | ke @ BEn
LR qadha ° M3 BT
C|A-B=0 IIL o
Fofiad fapedl 3 9 et SR 1 =0 I

1) A-ILB-IV.C-III.D-1I
(2 A-ILB-IV.C-III.D-1I
3) A-IILB-IL.C-IV.D-I
4 A-ILB-ILC-IV.D-II

1[Option ID=21657]
2[Option ID=21658]




3[Option ID=21659]
4[Option ID=21660]

Sl. No.94
QBID:899142469

Match List T with List IT

LISTI LISTII
A [Ehs I (@390
B. [FF)ig I [(253)15
C. |FoF0)y, . (17
D. |(EF)yg Iv. [(1111000011110000),

Choose the correct answer from the options given below:
(1) A-IILB-II.C-IV.D-I
(2) A-LB-ILC-II.D-IV
3) A-ILB-IV.C-II.D-1I
(4) A-LB-IV.C-II.D-III

gt 1 1 g 11 9 fieH Sifee
T T
A s L [(239)49
B. |(FF)s II. [{(233)45
c. |®0F0)y6 L (17
D. [(EF)ig TV, [(1111000011110000),
Fafoad [deeal O 3 8! SR &1 90 B

(1) A-NLB-ILC-IV.D-1
2 A-LLB-II.C-III.D -1V
3) A-NILLB-IV.C-II.D-I
4 A-LB-IV.C-II.D-III
1[Option ID=21661]
2[Option ID=21662]

3[Option ID=21663]
4[Option ID=21664]

Sl. No.95
QBID:899142470

Match List T with List IT

LISTI LIST I
Schottky diode i g < >| Cathode

Tunnel diode I %
Varactor diote | III. "“_|°*‘e E_Camwe
Zener diode v, [rede !;I' Cathode

Choose the correct answer from the options given below:
(1) A-LB-ILC-IV.D-1I
(2) A-IV.B-III.C-1I,D-I
3) A-IV.B-III.C-1.D-1II
(4) A-IILB-IV.C-1L.D-1I

Dlolw|»




= 11 gl 11 9 fire Sifee

H;-” I ﬁill I
A }3' ;—_1 i_\, 1 Anode H Cathode
B. [qiI3Mis m—{>—
c '\ﬁ ﬁ 11 Anode |> | Cathode
D ﬂ ﬁ I\Y Anode !:: |I Cathode

frrafeiad faeeal 7 8 Het SR &1 9g7 DI -
(1) A-LB-TILC-IV.D-1II
(2 A-IV.B-ILC-I.D-1I
(3) A-IV,B-IILC-LD-II
(4) A-IILB-IV.C-LD-1II

1[Option ID=21669]
2[Option ID=21670]
3[Option ID=21671]
4[Option ID=21672]

Sl. No.96
QBID:899142471

Match List T with List IT

LIST I (Mode of

Operation) EER

Emitter-Base Junction is Reverse
A |Active I. |bias and Collector-Base Junction
in Forward biased

Emitter-Base Junction is Forward
B. |Cut-off II. |biased and Collector-Base

Junction 1s Forward biased

Emitter-Base Junction 1s Reverse
C. |Saturation ITI. |biased and Collector-Base
Junction is Reverse biased

feacid Emitter-Base Junction 1s Forward
Iy [ IV |biased and Collector-Base
Active BT 3

Junction 1s Reverse biased

Choose the correct answer from the options given below:
(1) A-IV.B-III.C-II,D-I
(2) A-LB-ILC-II.D-IV
3) A-LB-IIILC-II.D-IV
(4) A-ILB-ILC-IV.D-I

il 1 %1 g3t 11 9 faH Bifoe

T I T I

Ieoie- MR Y uyfEfe smag
A [afpa L (Il SR TITel SyR IiY o
T e 8

I MR T o SOg Bl &
B. |3fd® it %mw@&nmﬂfﬁ&mams‘ﬁﬁ
I

Soewid- ATUR Ui gy fe aag
c. [dgf 1IL |1l § SR TTE! SR Hi
YRS 9109 g B

Feoich- YR Ty 30 9199 gt
D. |3eel. 9T | 1v. |2 3R Jumel Ny 9 uyfefre
Gl FGIE]

fFafaiad faeedl § 9 981 TR &1 98- Sifelu :

(1) A-IV.B-NL.C-II,D -1




(2 A-LB-ILC-IL.D-IV
3) A-LB-IILC-II.D-IV
4 A-ILB-ILC-IV.D-I

1[Option ID=21673]
2[Option ID=21674]
3[Option ID=21675]
4[Option ID=21676]

Sl. No.97
QBID:899142472

Match List T with List IT

LISTI

LISTII

Law of Malus

p- tan ’p where p 1s the
refractive index and 1p 1s the

polansing angle

Brewster Law

I

3 . where I 1s the

A
intensity and [ 1s the
wavelength of light

Ravleigh's Law of

- Scattering

IIL.

sin { Mo
= — _where py and pl

#y

are the refractive mndex of

medium 2 and 1.1 is the angle

of incidence and 1 1s the angle

of refraction

sinr

Snell's law of
refraction

V.

I < cos?@ , where I 1s the

intensity of transmitted light
and 8 1s the angle between
transmission direction of
polariser and alanyser.

Choose the correct answer from the options given below:
(1) A-LB-ILC-IV.D-III
(2) A-IV.B-II.C-I1.D-III
3) A-IV.B-L.C-II.D-III
(4) A-IILB-IV.C-IV.D-1

il 1 1 =i 11 9 e sifeg

A1 T I
p—tanip:ﬁum%
A [A@rfgE (L M, g
e loc%1=eﬂamaﬁ?;_
ST &1 e B
o | [ e
C. ?uf IIL {77eq® 2 3R 1 &1
S{UFHI®, | HUGH B r
30ddH HI0
2g | TR uET
‘éﬁﬁ I cos?@ .|
- | @1 g 8 9K 6 @ iR
D. ﬁ;mwﬂ v kAR
e d @ gl

frafafad fawed & 9 96t SR &1 =0 Fiforg :
(1) A-LB-IL.C-IV.D-1II
(2 A-IV.B-I,C-L.D-III
(3) A-IV.B-LC-ILD-III
(4) A-ILB-1V,C-IV,D-1I




1[Option ID=21677]
2[Option ID=21678]
3[Option ID=21679]
4[Option ID=21680]

Sl. No.98
QBID:899142473

Match List T with List IT

LISTI LISTII
A IMVI I. |stock instruction
B |INX II |Sata transfer instruction
C. [ANA III. |Anthmetic mstruction
D |pop v l_ogical gpera‘rion
mstruction

Choose the correct answer from the options given below:
(1) A-II.B-IV.C-III.D-1
(2) A-II.B-TII.C-IV.D-1
3) A-LB-ILC-II.D-IV
(4) A-II.B-1.C-III.D-1IV

el 1 1= 11 9 fie Sifeg
T I e 11

MVl | L [we gy

INX | I [SeTaiRm agw
ANA |10 |3iepmforda s
POP | IV |aifdhe uftare e

frgfafad famedl 7 9 9et SR & 9099 DI -
(1) A-ILB-IV,C-IILD-1I
(2 A-IL,B-IIL,C-IV,D-1I
(3) A-LB-NLC-ILD-IV
(4) A-ILB-LC-ILD-IV

=R Rl --N

1[Option ID=21681]
2[Option ID=21682]
3[Option ID=21683]
4[Option ID=21684]

Sl. No.99
QBID:899142474

Match List T with List IT

LISTI LISTII

Costliest, information
A Mask-programmed ROM | 1. lerasable using electrical
signals

costlier, information 1s
non-erasable

B. |PROM IL.

Cheapest. information 1s

C. |EPROM III.
non-erasable
Very costly, information
D. |EEPROM IV |1z erasable using UV
source

Choose the correct answer from the options given below:
(1) A-ILB-IL.C-1.D -IV

(2) A-LB-ILC-IV.D-III

3) A-LB-ILC-I.D-IV

(4) A-IILB-II.C-IV.D-I




= 11 gl 11 9 fire Sifee

T L T 11
A |HS UMHROM | L ﬁ%ﬁmﬁ%@l
B. [PROM I ﬁwfﬁﬁ &l
C. |EPROM L ﬁﬁ%@m e
D. [EEPROM v %@5%?
frafafad fased & 3 Tt SR & 99 PIfon -

(1) A-TILB-II.C-1.D -1V
2) A-LLB-II.C-IV.D-TII

3) A-LB-IL.C-III.D-1IV
(4) A-IILB-II.C-IV.D-I

1[Option ID=21685]

2[Option ID=21686]

3[Option ID=21687]
4[Option ID=21688]

Sl. No.100
QBID:899142475

Match List I with List II

LISTI LIST II

A |or I Q@-—m

B. |NOR I gj>_m
c. [xor . (4 — out
D. |xNOR V. ngch

Choose the correct answer from the options given below:
(1) A-II.B-II.,.C-IV.D-1I

(2) A-II.B-1.C-IV.D-1

3) A-ILB-ILC-I.D-IV

(49) A-II.B-TI.C-1.D-IV

gl 191 g3t 11 9 faH Bifoe

T T I
A |or L Qj}aut
B. |NOR I gi—m
c. |XOR IIL. gj}—m,z
D. [xNOR v. Q;Dmm

fFafeiad famedl & 3 et SR o1 9 B :
(1) A-ILB-1L,C-IV.D-I

(2 A-ILB-LC-IV.D-I

(3 A-ILB-ILC-LD-IV

(4) A-ILB-ILC-LD-IV

1[Option ID=21689]
2[Option ID=21690]
3[Option ID=21691]
4[Option ID=21692]




